_Sheet13 DIVIDING MULTIPLES OF 10 (1) 1)

Examples 240 +3 =10 X 24 = 3 45 +5=9
=10X8 450 + 5=90
= 80

Fill in the boxes.
9 25-5= O 24+-2- ©33:-3=

250 + 5 = 240 + 2 = 350 =3 =
Q14+2= @ 40-+5= @ 16-2=

140 + 2 = 400 + 5 = 160+2=|
©24+4= @ 18+-3= @ 16+4=

240 + 4 = 180 + 3 = 160 +~ 4 =
Qs-:3- © 36+4= @30+5=

90+ 3 = 360 ~ 4 = 300 -5 =
Work out
®120-2 @350+5 . @ 4505 ...
@ 1005 @oo+3 @3880+8 ...
®20+-3 @® 480+4 @ 2403 ...
@ 200+4 802 | e @ 100+2 ...
€D 120 cakes € 160 people € 400 pins

4 in each box 8 at each table 5 boxes

boxes tables pins in each

@ £150 prize @ 180 litres of water @ 280kg of potatoes

3 people 2 baths 4 sacks

2 each litres each kg each




